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VYl AL i

EFREEERE
2016 FE 4 A
YE% AE
4 R E® R SEE =i
(kg/hr) (kg/hr) (kg/hr) (B
(a) [FAEEH — S/ NPE (R EBERE N 258 )
fkr® 2.277 0.00 - 0.82 0.01 =
BRI 1.512 0.00-0.28 0.03 =
L& (HCI) 4545 0.00 - 0.21 0.13 =
#Fib= (HF) 0.306 0.00-0.12 0.04 =
—4&AERR (SO2) 15.147 0.00 — 3.89 1.61 =
—& b (CO) 7.578 0.00 - 0.30 0.05 =
FELY) (NOX)
PL=%(ESE (NOy) 30.303 1.48-9.54 3.81 =
EHE
(b) [ FHEEDH - HESE (HREHEREEHAGERE)
fckr ™ 0.756 0.00 - 0.09 0.01 &
Wiy 0.756 0.01-0.04 0.02 =
Z4LE (HC)) 0.756 0.07 - 0.16 0.13 =
FIbE (HF) 0.072 0.03-0.05 0.04 =
&1L (SO2) 3.789 1.33-1.92 1.61 =
—&{EhE (CO) 3.789 0.03 - 0.09 0.05 =
FE1LY) (NOX)
PI=&{EE (NOy) 15.147 2.85-5.01 3.84 =
HE
e HERR(E® Bhgsh T
(kg/hr) (kg/hr) =)
(c) AR (HZEALEETERE)
X 0.003789 <0.0003 =
5 S SERTEE R 0.003789 <0.0011 g
HEBRED 0.0378 <0.0052 =
R kg ) 7,575 x 107 <5.890 x 1020 e




VYl AL i

EFREEERE
2016 FE 4 A
YEE AF
4 R E® R SEE =i
(kg/hr) (kg/hr) (kg/hr) (B
(a) [FAEEH — S/ NPE (R EBERE N 258 )
fkr® 2.277 0.00 - 0.08 0.01 =
BRI 1.512 0.00 - 0.30 0.02 =
L& (HCI) 4545 0.01-0.34 0.15 =
#Fib= (HF) 0.306 0.00-0.10 0.04 =
—4&AERR (SO2) 15.147 0.05 — 3.67 2.03 =
—&(khx (CO) 7.578 0.00-0.17 0.01 =
FELY) (NOX)
PL=%(ESE (NOy) 30.303 0.64 —10.53 2.86 =
EHE
(b) [ FHEEDH - HESE (HREHEREEHAGERE)
fckr ™ 0.756 0.01 0.01 &
Wiy 0.756 0.01-0.05 0.02 =
Z4LE (HC)) 0.756 0.10-0.23 0.15 =
FIbE (HF) 0.072 0.02-0.05 0.04 =
&1L (SO2) 3.789 1.60 — 2.44 2.03 =
—&{EhE (CO) 3.789 0.00 — 0.02 0.01 =
FE1LY) (NOX)
PI=&{EE (NOy) 15.147 1.62—4.46 2.89 =
HE
e HERR(E® Bhgsh T
(kg/hr) (kg/hr) =)
(c) AR (HZEALEETERE)
X 0.003789 <0.0003 =
5 S SERTEE R 0.003789 <0.0013 g
HEBRED 0.0378 <0.0058 =
R kg ) 7,575 x 107 <6.687 x 1020 e




VYl AL i

EFREEERE
2016 FE 4 A
YE% BE
4 R E® R SEE =i
(kg/hr) (kg/hr) (kg/hr) (B
(a) [FAEEH — S/ NPE (R EBERE N 258 )
fkr® 2.277 0.00 - 0.70 0.00 =
BRI 1.512 0.02-0.70 0.06 =
L& (HCI) 4545 0.01-0.31 0.16 =
#Fib= (HF) 0.306 0.01-0.05 0.03 =
—4&AERR (SO2) 15.147 0.06 —3.73 2.12 =
—&(khx (CO) 7.578 0.00 — 0.05 0.02 =
FELY) (NOX)
PL=%(ESE (NOy) 30.303 0.68 —12.80 3.65 =
EHE
(b) [ FHEEDH - HESE (HREHEREEHAGERE)
fckr ™ 0.756 0.00-0.18 0.01 &
Wiy 0.756 0.04—0.24 0.07 =
(L& (HCl) 0.756 0.05-0.26 0.16 &
FIbE (HF) 0.072 0.02 - 0.04 0.03 =
—&£4LhR (SO2) 3.789 1.96 — 2.32 2.13 =
—&{EhE (CO) 3.789 0.01-0.04 0.02 =
FE1LY) (NOX)
PI=&{EE (NOy) 15.147 1.67-7.10 3.75 =
HE
e HERR(E® Bhgsh T
(kg/hr) (kg/hr) =)
(c) AR (HZEALEETERE)
X 0.003789 <0.0003 =
R S SEYAE R 0.003789 <0.0012 g
HEBRED 0.0378 <0.0055 =
R kg ) 7,575 x 107 <6.334 x 1070 e




VYl AL i

EFREEERE
2016 FE 4 A
E[fz BF‘ [Eﬁﬁ [E1]: Please include BE.
4 R E® R SEE =i
(kg/hr) (kg/hr) (kg/hr) (B
(a) [FFEEEEH - /NP E(HFETRENRRER)
fkr® 2.277 0.00 - 0.14 0.00 =
BRI 1.512 0.00-0.72 0.05 =
L& (HCI) 4545 0.03-0.46 0.10 =
#Fib= (HF) 0.306 0.01-0.14 0.03 =
—&4LHR (SO2) 15.147 0.01-6.58 1.62 =
—&(khx (CO) 7.578 0.00 — 0.04 0.01 =
FELY) (NOX)
PL=%(ESE (NOy) 30.303 0.51-6.06 2.08 =
EHE
(b) FFEEDH - HEE (HREHEREEHAGEE)
fckr ™ 0.756 0.00 - 0.02 0.00 &
Wiy 0.756 0.02-0.09 0.05 =
(L& (HCl) 0.756 0.08-0.13 0.10 &
#FibE (HF) 0.072 0.03 0.03 =
&1L (SO2) 3.789 1.12-2.20 1.62 =
—&{EhE (CO) 3.789 0.01-0.02 0.01 =
FE1LY) (NOX)
PI=&{EE (NOy) 15.147 0.82-3.75 2.10 =
HE
e HERR(E® Bhgsh T
(kg/hr) (kg/hr) =)
(c) SR (R EMLERFrEE)
X 0.003789 <0.0003 =
5 S SERTEE R 0.003789 <0.0011 g
HEBRED 0.0378 <0.0052 =
R kg ) 7,575 x 107 <5.835 x 1010 e
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